SAP ABAP table TBZ0] {Assign BDT Object Part Grouping -> BDT Screen Sequences}

TOOO
TBZOJ-CLIENT = T000-MANDT . MANDT [CLNT (3)]

- TBZ0G

- CLIENT [CLNT (3)]
OBJAP [CHAR (4)]
- RLTGR [CHAR (6)]

- TBZ1
1- - TBZ0J-OBJAP = TBZ1-OBJAP _ 0-N |CLIENT [CLNT (3)]
1- - _ TBZOJ-VARTP = TBZ3LVARTP |QBJAP [CHAR (4)]
1. Tl TBZ3L

> _ TBZOJ-VARNR = TBZ3N-VARNR 0.N | CLEENT [CLNT (3)]

S OBJAP [CHAR (4)]
RN VARTP [CHAR (6)]

Tl TBZ3N

CLIENT [CLNT (3)]
OBJAP [CHAR (4)]
VARTP [CHAR (6)]
VARNR [CHAR (6)]




